14k B TR H M
1-1 —EXBEAX :(a+b)(c+d)=ac+ad+bec+bd

[#&H11] (1) x+2)(x+3) (2) 2x +y)(3x-y)

-2 Z2FFARX :(a+b)’=a’+2ab+b’ (a-b)>=a’-2ab+b’

[ #&#2] (1) (2x+3y) ) (2x-3yy

1-3 FHFE2KX :(a+b)a-b)=a’-b?

[ #611] (1) Gx+4y)3x—4y) (2) (2a+bX2a-b)

1-4  xFFARK :a’+b'=(a+b)@a’+ab+b’)=

[ 8647 1] (1) sin’x+cos’x (2) 8+ 125b°

1-5 XFEARX :a’-b'=(a-b)a’+ab+b*)=

[ ##11] (1) 8 -1 ) e v



1-6  ZRAmik

[#611] DE+&+D+&+1) @ R+ +x+5)+&x+2)
(B) (6 —Tx' —4x +8)+ (B3x' +x—2)

2-1 +FRF
[ 1] (1) x'-x-90 @) %' -5x-10 3) 9 -35x—-4
2-2 MBXEHE (1) Vaxa=a , a>0 (2) Vvaxaxa=ava , a>0

(3) Vaxyb=+ab , a>0,b>0 (4) ‘\g‘:ﬁ, a>0,b>0

1 [a5 V18 6 [2
[ #5611 (1) V3x412 (2)\Ex\/; (3)f (4)@.\/;

[&m2] () V12 @) V63 (3 E



2-3 RBRASRHE : BEMAIRAL T4 R

[ &811] 1) S-24384942643 () 124 84/3 557518

3) \/§+\E+\/5_4+%

2-4 HBAHRM : BRIFBRATHAE

[#m 1] () (V2+3)W6 +4/3) B (T2 HAT-Z

2-5  RASHFHHEL

1 1
@ =——F

$15] 1 1
[ #afal 1] ()\/§+1 5

2-6 MEREHAH : Jy22)y =Va:db , E¥ x=a+b,y=ab

[ #6611 (1) V3+242 (2) V8-+28 @Y AT

(5]



2-7 HBA,-BHFEA

1 1

[ %) 1] (1) - (2)

=
&

31 —A=—RFRAMBE (1) TFXE Q) ®F* Q) 2%

[ &6 1] (1) 28°-5x+2=0 (2 x-6x4+48=0 (3) 2x*+4x-6=0

[ &5 2] FAEH
(1) xX—6x+2=0 () 3 +5x-4=0

3-2 MR&AHKX :(Hb® -dac>0, 2)b* —4ac=0,
(3)b’ -4ac<o,

[ 865 1] HBTFHAFRABRZEET (D +3x-5=0 Q2% -5%x+6=0 @) -x+6x-9=0



[ 8% E2] COMaBrEgil HiEAC-ax+3=0F M ER , KazfH

3-3 —A=RFBAMHREABH WA

, o h
45 ax +bx + c = 0 YRR Bo , B, H (Da+B= - Qa-p= =

a

SRR AR K — (@ + B )x +aB =0

[ #5671
EC 3-8 = 0 MRIRBa, B, Bl Da+P=? @Qa-p=? Qo +p=7?
1 1

2 el = B, .a_,
(4) 0:+ﬁ =7 (5 a+,[5’ /

; . 2 1
[ $6612] KTIMR<EL . D5,-2 2) 32 3y, =1

3] o B+ 10x-S0 = ORI | KDL, — PRIt

4-1 SREHBD :

[ 6611 E’;&f(x):%XH,HIJ(l)f(O):? (2)f(—§):? 3 f@a-1)=?



4-2 —kEBHEH : f(X)=ax’+bx+c=ax-h)’+k

() EEEHymR Q [EESG, L ; ERRREBoEE,
@) x-h=07BENEMAFERX @) Ex=hF ,(RFEELK , /JMik

[ #6011 B TYIREETZITEES
(1) y=3x-1)"+2

Q) y=-3x+1)7+1

(3) y=2x-3)-12



Brie S P REHM (REA)

1-1 —BEXABELAKX :(a+b)c+d)=ac+ad+bec+bd

[ #A784 % 1]

(1) 5x+2)(2x-3) (2) (=2x + 3)(3x — 4y)

1-2 %2FFARK :(a+b)=a’+2ab+b’
(a-b)*=a’-2ab + b’

[ ZAAR4RE 2]

(M (3x+1y (2) (x—5y)

1-3 FFHFEARK :(a+b)a-b)=2a’-p’

[ $aAE4 % 1]

(D) (4x + DEdx - 1) () x+ Dx—Dx+2D(x-2)




1-4 xFFAK :a’+b'=(a+b)a’+ab+b?)

[ #aAE4R E 1]

(1) 27x + 64

v 1
2 = _.‘
(2) a +8b

1-5 ZFEAK :a’-b'=(a-b)a’+ab+b’)

[ $aR84 % 1]

3 b3
1) 1255 — —
(1) 125x -

(2)a'—27b°

1-6  ZRAk%E

[ 3822405 1]

(D)2 +x+45) +x+3)

Q)6 - +8x -3 +x+1)




(1) 5% + 2x = 51

(3) 9x" — 35x — 4

(2) X+ x 380

0% + 55— 12

2-2 #|Amiti

[ #aAasR g 1]

B CREAS
75

3) —

NG

13 . g
o 5l




(1) 24 (2) 180
27 75
(3) \E 4 £}

2-3 WA S EIE : RBMIRA T A8 ik

[ #aA86R % 1]

(1) 446 — 83+ 76— 443

(2) 3+/5 + 63 -/45 +/75

32+ L o
oLt




2-4 MAHRM : ARFRATHE
[ SAMRE 1]

(1) (V2 +4/5)(V3 +4/75) Q) (V3+D(3-1)

2-5 RBRA;HFHHFE :

[ AR T 1]

(1)

1
V5 +42 15-3

2-6 HMERBHEH : xx2/y=Va+rb , ¥ x=a+b,y=ab
[ #aRE4 5 1)

(13 &7 29412 (2) V12-445

(3) V3++5




2-9 MAFFHHAEL :
[ #aAE8 Y 1]

1 1

I ——— 2
()Zﬁuﬁ (2)

N
Qi

3-1 —a=—RFBANGEE (1) +FXK Q) &FE ) 2aX*k

[ #aAa4 8 1]

(1) Gx*+10x+3=0 (2)4x* = 3x-2=0

[ $8R86R 5 2]

(1) xX*—6x+8=0 (2) 2x°+4x—-6=0




3-2  MEHAF KX

[ #a784 % 1]

HH TR FELXRBZHET (DX -8-20=0 Q) 6x'=Tx+3=0
) 16x°+8x+1=0

[ #ARE40E 2]

Ul a B iFsg H AR —ax+3=0F—{f —FEMH , KaZ{H

-3 —AoRFRAHBRBAELWA
#5 ax’ + bx + ¢ = 0 iR Sa , B, Hl (Da+B= Z Qa-Pp= i
HAREATHE - (@+B)x+ap=0




[ MR E 1]

X +3x-8=0MRIHESa, B, BHlDa+B=? Qa-p=?7 Qo' +p=?

@ Lel 20 5 £122,
(24

B a B

[ #A884 % 2]

KPR HEL (D-6,3 @ -, -= (38,3

[ #EA84 8 3]

Fo, B K+ Ax + 2 = 0 TURGEE | KDla!, B RERM iR




4-1 REBHBE :

[ #aRR4E 1]

iw=2%-1, 8l ODfG=? @ [(3)=?

3 fax+a="

4-2 Z—RHIHWEF

[ #aR24 8 1]

i R IERBEITER © (1) y =400+ D)7+ 3

2 y=-Sx-17-2




